

MEROMORPHIC SOLUTIONS FOR A CLASS OF DIFFERENTIAL
EQUATIONS AND THEIR APPLICATIONS

WEIRAN LÜ, FENG LÜ, LINLIN WU AND JING YANG

China University of Petroleum, P.R. China

E-mails: *lufeng18@126.com*; *2528307075@gg.com*; *1310231370@gg.com*

Abstract. In this note, we study the admissible meromorphic solutions for algebraic differential equation $f^n f' + P_{n-1}(f) = R(z)e^{\alpha(z)}$, where $P_{n-1}(f)$ is a differential polynomial in f of degree $\leq n-1$ with small function coefficients, R is a non-vanishing small function of f , and α is an entire function. We show that this equation does not possess any meromorphic solution $f(z)$ satisfying $N(r, f) = S(r, f)$ unless $P_{n-1}(f) \equiv 0$. Using this result, we generalize a well-known result by Hayman.

MSC2010 numbers: 30D35, 30D20, 30D30.

Keywords: Differential polynomial; admissible solution; Hayman's alternative; differential equation; small function.

1. INTRODUCTION AND MAIN RESULTS

Let f denote a transcendental meromorphic function. We assume that the reader is familiar with the fundamental results of Nevanlinna theory and its standard notation such as $m(r, f)$, $N(r, f)$, $T(r, f)$, $S(r, f)$, etc. (see [8] and [24]). Recall that a nonconstant meromorphic function α is said to be a small function of f if $T(r, \alpha) = S(r, f) (= o(1)T(r, f))$ as $r \rightarrow \infty$, possibly outside a set of r values of finite linear measure. Also, a polynomial in f and its derivatives with small functions of f being the coefficients is called a differential polynomial in f . By $P_n(f)$ we will denote a differential polynomial in f with the total degree in f and its derivatives $\leq n$. By $\rho(f)$ and $\lambda(f)$ we will denote the order and the exponent of convergence of zeros of f , respectively. We will need the following concept of admissibility (see, e.g., [14], [15]).

Definition 1.1. Let $R(z, \omega)$ be rational in ω with meromorphic coefficients. A meromorphic solution ω of equation $(\omega')^n = R(z, \omega)$ is called admissible if $T(r, a) = S(r, \omega)$ for all coefficients $a(z)$ of $R(z, \omega)$.

⁰This work was supported by NNSF of China Project (No. 11601521) and the Fundamental Research Fund for Central Universities in China Project (Nos. 15CX05061A & 18CX02048A).

¹Dedicated to Professor Chungchun Yang on the occasion of his 76th birthday.

It is clear that admissibility makes sense relative to any family of meromorphic functions, without any reference to differential equations.

In 1980, Gackstatter and Laine [6] conjectured that the following algebraic differential equation:

$$(f')^n = p_m(f),$$

where $p_m(f)$ is a polynomial in f and n is a positive integer, does not possess any admissible solution when $m \leq n - 1$. In 1990, He and Laine [12] gave a positive answer to this conjecture. Recently, Zhang and Liao [25] proved that if the following algebraic differential equation with polynomial coefficients:

$$(1.1) \quad P_n(f) = 0$$

has only one dominant term (highest-degree term), then the equation (1.1) has no admissible transcendental meromorphic solutions with a few poles. Liu et al. [18] considered the possible admissible solutions for the following algebraic differential equation:

$$(1.2) \quad f^n f^{(k)} + a_{n-1} f^{n-1} + \cdots + a_1 f + a_0 = R e^\alpha,$$

where a_j ($j = 0, 1, \dots, n-1$) are small functions of f , R is a nonzero small function and α is an entire function. They have obtained a simple expression for meromorphic solutions of equation (1.2) provided that the solutions satisfy $N(r, f) = S(r, f)$. This also means that the solutions have finitely many zeros determined by the term $R e^\alpha$ in the differential equation. Further, this result can be viewed as a generalization of the following well-known result due to Hayman [9] in 1959, which is a prototype of the studies of the zeros of certain special type of differential polynomials.

Theorem A. *Let f be a transcendental meromorphic function, and $n \geq 3$ be an integer. Then $f^n f'$ assumes all finite values, except possibly zero, infinitely many times.*

Later, Hayman [10] conjectured that Theorem A remains valid for $n = 1$ and 2. Then, Hayman's conjecture was confirmed by Mues [20] in the case $n = 2$, and independently by Bergweiler and Eremenko [2] and Chen and Fang [3] in the case $n = 1$. For the related results we refer to [1], [5], [7], [13], [16], [21], [22], and references therein.

It is clear now that distributions of zeros of differential polynomials $P(f)$ of the form $P(f) = f^n f^{(k)} - b$, with $n \geq 1$, $k = 1$ and b a nonzero constant, have been dealt

with. In this paper, we study similar problems for such differential polynomials when $n = 1$ and $k \geq 2$, as well as for more general differential polynomials when $n \geq 2$.

Before proceeding further, we recall two known results from [17] and [18].

Theorem B ([17]). *Let $Q_d(z, f)$ be a differential polynomial in f of degree d with rational function coefficients. Suppose that u is a nonzero rational function and v is a nonconstant polynomial. If $n \geq d + 1$ and the differential equation*

$$(1.3) \quad f^n f' + Q_d(z, f) = u(z)e^{v(z)}$$

has a meromorphic solution f with finitely many poles, then f has the following form:

$$f(z) = s(z)e^{v(z)/(n+1)} \text{ and } Q_d(z, f) \equiv 0,$$

where $s(z)$ is a rational function satisfying $s^n((n+1)s' + v's) = (n+1)u$.

Theorem C ([18]). *Let f be a transcendental meromorphic function and α be an entire function, and let q and R be small functions of f with $q \not\equiv 0$. Then the differential equation $ff' - q = Re^\alpha$ has no transcendental meromorphic solutions.*

Remark 1.1. *In [19], the authors of the present paper proved the following result. Let α and β be entire functions, and let p, q, R_1 and R_2 be non-vanishing rational functions. Then the system of equations: $pf f^{(k)} - q - R_1 e^\alpha, pf f^{(l)} - q - R_2 e^\beta$ has no transcendental solutions for integers l and k with $l > k \geq 2$.*

Now we are in position to state our first main result, which extends Theorem B, proved in [17]. Note that our proof is different and much simple than that of applied [17]. For related recent results we refer the papers [17] – [19].

Theorem 1.1. *Let $P_{n-1}(f)$ be a differential polynomial in f with coefficients being small functions, and let $\deg P_{n-1}(f) \leq n - 1$. Then for any positive integer n , any entire function α and any small function R , the equation*

$$(1.4) \quad f^n f' + P_{n-1}(f) = Re^\alpha$$

does not possess any transcendental meromorphic solution $f(z)$ with $N(r, f) = S(r, f)$ unless $P_{n-1}(f) \equiv 0$. Moreover, if the equation (1.4) possesses a meromorphic solution f with $N(r, f) = S(r, f)$, then (1.4) will become $f^n f' = Re^\alpha$ and $f(z)$ has the form $f(z) = u \exp(\alpha/(n+1))$ as the only possible admissible solution of (1.4), where u is a small function of f .

Corollary 1.1. *Let f be a transcendental meromorphic function with $N(r, f) = S(r, f)$, and let $P_{n-1}(f)$ be a differential polynomial in f with small functions as its*

coefficients, such that $P_{n-1}(0) \neq 0$ and $\deg P_{n-1}(f) \leq n-1$. Then for any positive integer n , the differential form $f^n f' + P_{n-1}(f)$ has infinitely many zeros.

Based on Corollary 1.1, we pose the following more general conjecture.

Conjecture 1.1. *Let f be a transcendental meromorphic function with $N(r, f) = S(r, f)$, and let $P_{n-1}(f)$ be a differential polynomial in f with small functions as its coefficients, such that $\deg P_{n-1}(f) \leq n-1$ and $P_{n-1}(0) \neq 0$. Then for any positive integers n and k , the differential form $f^n f^{(k)} + P_{n-1}(f)$ has infinitely many zeros.*

Remark 1.2. *The condition $N(r, f) = S(r, f)$ in Corollary 1.1 is necessary. For example, let $f(z) = \frac{e^z}{e^z - 1}$. Then $f^2 f' + \frac{3}{2} f'' + \frac{3}{2} f' + f - 1 = -\frac{1}{(e^z - 1)^3}$ has no zeros.*

Also, the condition $P_{n-1}(0) \neq 0$ is necessary. For instance, if $f(z) = z^2 e^z$, then $z^2 f^3 f' + z^2 f f' - (2+z) z f^2 = (2+z) z^9 e^{4z}$ has finitely many zeros. The conclusion of Corollary 1.1 becomes invalid, if we replace the condition $\deg P_{n-1}(f) \leq n-1$ by the condition $\deg P_n(f) \leq n$. Indeed, to see this, take $f(z) = e^z - 1$, and observe that $P_2(f) = 2f^2 + 3f + 1$ and $f^2 f' + P_2(f) = e^{3z}$ has no zeros.

Remark 1.3. (see [18]). *Let f be an admissible meromorphic solution of equation (1.2), and let $a_0 \equiv 0$. Then for $n \geq 2$ and $k \geq 1$, the other coefficients a_1, \dots, a_{n-1} must be identically zero. In this case, (1.2) becomes $f^n f^{(k)} = \operatorname{Re}^\alpha$ and f has the form $f(z) = u \exp(\alpha/(n+1))$ as the only possible admissible solution of the equation (1.2), where u is a small function of f .*

In view of Theorem 1.1 and Remark 1.3, we obtain the following result, which improves the corresponding result from [17].

Theorem 1.2. *Let f be a transcendental meromorphic function with $N(r, f) = S(r, f)$, and $q_m(f) = b_m f^m + \dots + b_1 f + b_0$ be a polynomial of degree m with coefficients being small functions of f , and let n be an integer with $n \geq m+1$. Then the differential form $f' f^n + q_m(f)$ assumes every small function γ infinitely many times, except for a possible small function $b_0 = q_m(0)$. On the other hand, if $f' f^n + q_m(f)$ assumes the small function $b_0 = q_m(0)$ finitely many times, then $q_m(z) \equiv b_0$.*

2. PROOF OF THEOREM 1.1

The following lemma is crucial in the proof of our theorem (see [4, 23]).

Lemma 2.1. (see [4, 23]). Let f be a transcendental meromorphic solution of the equation:

$$f^n P(z, f) = Q(z, f),$$

where $P(z, f)$ and $Q(z, f)$ are polynomials in f and its derivatives with meromorphic coefficients $\{a_\lambda | \lambda \in I\}$ such that $m(r, a_\lambda) = S(r, f)$ for all $r \in I$. If the total degree of $Q(z, f)$ as a polynomial in f and its derivatives is at most n , then

$$m(r, P(r, f)) = S(r, f).$$

Proof of Theorem 1.1. We first show that $f^n f' + P_{n-1}(f)$ can not be a small function of f . Indeed, assuming the opposite, from $N(r, f) = S(r, f)$ and Lemma 2.1, we get $m(r, f') = S(r, f)$, and then $T(r, f') = S(r, f)$. A contradiction $T(r, f) = S(r, f)$ now follows by relying to a Theorem from [11] and combining it with the proof of Proposition E from [12]. Thus, for any transcendental meromorphic function f under the condition $N(r, f) = S(r, f)$, we have

$$(2.1) \quad T(r, f^n f' + P_{n-1}(f)) \neq S(r, f),$$

showing that $R\alpha$ is not a small function of f .

In view of Theorem C, without loss of generality, we can assume that $n \geq 2$. Let $P_{n-1}(f) \neq 0$. From (1.4) and a result of Milloux (see, e.g., [8]), we obtain

$$T(r, e^\alpha) \leq (n+1)T(r, f) + S(r, f),$$

which and the equality $T(r, \alpha) + T(r, \alpha') = S(r, e^\alpha)$ lead to $T(r, \alpha) + T(r, \alpha') = S(r, f)$.

By taking the logarithmic derivative on both sides of (1.4), we get

$$\frac{n f^{n-1} (f')^2 + f^n f'' + P'_{n-1}(f)}{f^n f' + P_{n-1}(f)} = \frac{R'}{R} + \alpha',$$

implying that

$$\begin{aligned} & -\left(\frac{R'}{R} + \alpha'\right) f^n f' + n f^{n-1} (f')^2 + f^n f'' \\ (2.2) \quad & = \left(\frac{R'}{R} + \alpha'\right) P_{n-1}(f) - P'_{n-1}(f). \end{aligned}$$

Next, we set

$$(2.3) \quad \varphi = -\left(\frac{R'}{R} + \alpha'\right) f f' + n (f')^2 + f f'',$$

and use (2.2) to obtain

$$(2.4) \quad f^{n-1} \varphi = \left(\frac{R'}{R} + \alpha'\right) P_{n-1}(f) - P'_{n-1}(f) := Q_{n-1}(f).$$

Clearly, $Q_{n-1}(f)$ is a differential polynomial in f with $\deg Q_{n-1}(f) \leq n-1$. We claim $\varphi \not\equiv 0$. Indeed, if $\varphi \equiv 0$, then in view of $Q_{n-1}(f) \equiv 0$, and (2.4), with some constant B we have $BP_{n-1}(f) \equiv Re^\alpha$. Since f is a transcendental meromorphic function, (1.4) shows that $B \neq 1$, and

$$f^n f' = (B-1)P_{n-1}(f),$$

which together with Lemma 2.1 implies $m(r, f') = S(r, f)$. Thus, by $N(r, f) = S(r, f)$ we have $T(r, f') = S(r, f)$, yielding a contradiction. Hence $\varphi \not\equiv 0$. Moreover, applying Lemma 2.1 to (2.4) again, we can conclude that $m(r, \varphi) = S(r, f)$ and $T(r, \varphi) = S(r, f)$.

From (2.3), we get $m(r, \frac{\varphi}{f}) = S(r, f)$, and hence

$$(2.5) \quad m(r, \frac{1}{f}) = S(r, f).$$

It follows from (2.3) that

$$\begin{aligned} N_{(2)}(r, \frac{1}{f}) &\leq N(r, \frac{1}{\varphi}) + S(r, f) \\ &\leq T(r, \varphi) + S(r, f) = S(r, f), \end{aligned}$$

implying that the zeros of f are mainly simple zeros. Thus, by (2.5), we obtain

$$(2.6) \quad T(r, f) = N(r, \frac{1}{f}) + S(r, f) = N_{(1)}(r, \frac{1}{f}) + S(r, f),$$

where $N_{(1)}(r, 1/f)$ involves only the simple zeros of f .

Let z_0 be a simple zero of f such that $R(z_0) \neq 0$. Then in view of (2.3) we have

$$(2.7) \quad n(f')^2(z_0) = \varphi(z_0).$$

Now, we show that $\varphi' \not\equiv 0$. Suppose, contrary to our assertion, that $\varphi' \equiv 0$, that is, φ is a constant. If z_0 is a zero of $f'(z) - \sqrt{\varphi/n}$, then we set

$$(2.8) \quad h(z) = \frac{f'(z) - \sqrt{\frac{\varphi}{n}}}{f(z)},$$

and observe that $h \not\equiv 0$. It follows by (2.5), (2.7) and (2.8) that

$$(2.9) \quad m(r, h) = S(r, f).$$

From (2.6) and (2.8), we get $N(r, h) = S(r, f)$, which together with (2.9) show that $T(r, h) = S(r, f)$, and

$$(2.10) \quad f' = hf + \sqrt{\frac{\varphi}{n}}, \quad f'' = (h^2 + h')f + h\sqrt{\frac{\varphi}{n}}.$$

By (2.10) and (2.3), we obtain

$$[(n+1)h^2 + h' - h(\frac{R'}{R} + \alpha')]f + [(2n+1)h - (\frac{R'}{R} + \alpha')]\sqrt{\frac{\varphi}{n}} = 0.$$

Therefore, we must have

$$(n+1)h^2 + h' - h(\frac{R'}{R} + \alpha') \equiv 0, \quad (2n+1)h - (\frac{R'}{R} + \alpha') \equiv 0,$$

which implies $(2n+1)\frac{h'}{h} = n(\frac{R'}{R} + \alpha')$, and thus $(Re^a)^n = Ch^{2n+1}$ with a constant C . This, however, contradicts (2.1) and $T(r, h) = S(r, f)$, and thus $\varphi' \neq 0$.

Using the above arguments, it can be shown that $\varphi' \neq 0$. In this case we set

$$h(z) = \frac{f'(z) + \sqrt{\varphi/6}}{f(z)}$$

and assume that $f'(z_0) + \sqrt{\varphi/n} = 0$.

Again, from (2.3), we get

$$(2.11) \quad \varphi' = -t'ff' - t(f')^2 - tff'' + (2n+1)f'f'' + ff''',$$

where $t = \frac{R'}{R} + \alpha'$. In view of (2.11) and (2.7), we see that a simple zero z_0 of $f(z)$ such that $R(z_0) \neq 0$, is a zero of $(2n+1)\varphi f''(z) - (t\varphi + n\varphi')f'(z)$.

If $(2n+1)\varphi f''(z) - (t\varphi + n\varphi')f'(z) \neq 0$, we set

$$g(z) = \frac{(2n+1)\varphi f''(z) - (t\varphi + n\varphi')f'(z)}{f(z)}.$$

It is clear that g is a small function of f . Therefore, we have

$$f'' = \frac{g}{(2n+1)\varphi}f + \frac{t\varphi + n\varphi'}{(2n+1)\varphi}f'$$

$$(2.12) \quad := s_1f + s_2f',$$

and

$$(2.13) \quad f''' = (s'_1 + s_1s_2)f + (s_1 + s'_2 + s_2^2)f'.$$

Next, it follows from (2.13), (2.12), (2.11) and (2.3) that

$$(2.14) \quad \begin{aligned} & (2n+1-t'-ts_2+s_1+s'_2+s_2^2+t\frac{\varphi'}{\varphi}-s_2\frac{\varphi'}{\varphi})f' \\ & + (s'_1+s_1s_2-ts_1-s_1\frac{\varphi'}{\varphi})f = 0. \end{aligned}$$

In this case, (2.14) and (2.6) imply

$$s'_1 + s_1s_2 - ts_1 - s_1\frac{\varphi'}{\varphi} \equiv 0.$$

Therefore, we have $(2n+1)\log s_1 = 2n(\log R + \alpha) + (3n+1)\log \varphi + B$ with a constant B , which implies that $(Re^\alpha)^{2n} c^B \varphi^{3n+1} = s_1^{2n+1}$. Thus, Re^α is a small function of f , which contradicts (2.1). Therefore, $(2n+1)\varphi f''(z) - (t\varphi + n\varphi')f'(z) \equiv 0$, and we have

$$(2.15) \quad f'' = \beta f'$$

with $\beta = \frac{n\varphi'}{(2n+1)\varphi} + \frac{t}{2n+1}$. From (2.15) we obtain

$$(2.16) \quad f''' = (\beta' + \beta^2)f'.$$

It follows from (2.16), (2.15) and (2.11) that

$$(\beta' + \beta^2)f' = (t' - t\frac{\varphi'}{\varphi})f' + (t + \frac{\varphi'}{\varphi})\beta f'.$$

Therefore, we have

$$(2.17) \quad \beta' - t' \equiv -\beta(\beta - t) + (\beta - t)\frac{\varphi'}{\varphi}.$$

If $\beta - t \equiv 0$, then by the definitions of t and β , we see that $(Re^\alpha)^2 = C\varphi$, where C is a constant. So, Re^α is a small function of f , which contradicts (2.1). Hence, we have $\beta - t \not\equiv 0$. In this case, again, by (2.17), we obtain $(2n+1)\log(\beta - t) = n\log \varphi + \log R + \alpha + D$ with a constant D , showing that Re^α is a small function of f , which also contradicts (2.1).

This completes the proof of the theorem, namely the equation $f^n f' + P_{n-1}(f) = Re^\alpha$ does not possess any meromorphic solution f with $N(r, f) = S(r, f)$ unless $P_{n-1}(f) \equiv 0$.

3. CONCLUSIONS

Using different and much simpler proofs, this paper provides two main results, extending the main results of the paper [17] to more general differential polynomials. Some examples are discussed showing that the imposed conditions are necessary. For further study, a general conjecture is posed.

Acknowledgement. The authors would like to thank Professor Chung-Chun Yang for his helpful discussions and suggestions during the preparation of this paper.

СПИСОК ЛИТЕРАТУРЫ

- [1] W. Bergweiler, "On the product of a meromorphic function and its derivative", *Bull. Hong Kong Math. Soc.*, **1**, 97 - 101 (1997).
- [2] W. Bergweiler and A. Eremenko, "On the singularities of the inverse to a meromorphic function of finite order", *Rev. Mat. Iberoamericana*, **11**, 355 - 373 (1995).
- [3] H. H. Chen and M. L. Fang, The value distribution of $f^n f'$, *Sci. China Ser. A*, **38**, 789 - 798 (1995).
- [4] J. Clunie, "On integral and meromorphic functions", *J. Lond. Math. Soc.*, **37**, 17 - 27 (1962).

- [5] G. Frank, W. Hennekemper and G. Polloczek, "Über die Nullstellen meromorpher Funktionen und ihrer Ableitungen", *Math. Ann.*, **225**, 145 – 154 (1977).
- [6] F. Gackstatter and I. Laine, "Zur Theorie der gewöhnlichen Differentialgleichungen im Komplexen", *Ann. Polon. Math.*, **38**(3), 259 – 287 (1980).
- [7] J. Grahl, "Hayman's alternative and normal families of non-vanishing meromorphic functions", *Computational Methods and Function Theory*, **2**, 481 – 508 (2002).
- [8] W. K. Hayman, *Meromorphic Functions*, Clarendon Press, Oxford (1964).
- [9] W. K. Hayman, "Picard values of meromorphic functions and their derivatives", *Ann. of Math.*, (2), **70**, 9 – 42 (1959).
- [10] W. K. Hayman, *Research Problems in Function Theory*, The Athlone Press University of London, London (1967).
- [11] W. K. Hayman and J. Miles, "On the growth of a meromorphic function and its derivatives", *Complex Variables*, **12**, 245 – 260 (1989).
- [12] Y. Z. He and I. Laine, "The Hayman-Miles theorem and the differential equation $(y')^n = R(z, y)$ ", *Analysis*, **10**, 387 – 396 (1990).
- [13] W. Hennekemper, "Über die Wertverteilung von $(f^{k+1})^{(k)n}$ ", *Math. Z.*, **177**, 375 – 380 (1981).
- [14] K. Ishizaki and N. Yanagihara, "Admissible solutions of algebraic differential equations", *Funkcial. Ekvac.*, **38**, 433 – 442 (1995).
- [15] I. Laine, *Nevanlinna Theory and Complex Differential Equations*, Walter de Gruyter, Berlin/New York (1993).
- [16] J. K. Langley, "On the zeros of $ff'' - b^n$ ", *Results Math.*, **44**, 130 – 140 (2003).
- [17] L. W. Liao and Z. Ye, "On solutions to nonhomogeneous algebraic differential equations and their application", *J. Aust. Math. Soc.*, **97**, 391 – 403 (2014).
- [18] N. N. Liu, W. R. Lü and C. C. Yang, "On the meromorphic solutions of certain class of nonlinear differential equations", *Journal of Inequalities and Applications*, 2015, 149 (2015).
- [19] W. R. Lü, N. N. Liu, C. C. Yang and Caiping Zhuo, "Notes on the value distribution of $ff^{(k)} - b^n$ ", *Kodai Math. J.*, **39**, 500 – 509 (2016).
- [20] E. Mues, "Über ein Problem von Hayman", *Math. Z.*, **164**, 239 – 259 (1979).
- [21] M. Ozawa, "Zeros of certain differential polynomials", *Analytic function theory of one complex variable*, Pitman Res. Notes Math. Ser., **212**, 199 – 225 (1989).
- [22] C. C. Yang, L. Yang and Y. F. Wang, "On the zeros of $(f^{(k)})^n f - a$ ", *Chinese Sci. Bull.*, **38**, 2125 – 2128 (1993).
- [23] C. C. Yang and Z. Ye, "Estimates of the proximity function of differential polynomials", *Proc. Japan Acad. Ser. A Math. Sci.*, **83**, 50 – 55 (2007).
- [24] C. C. Yang and H. X. Yi, *Uniqueness Theory of Meromorphic Functions*, Science Press, Beijing/New York (2003).
- [25] J. Zhang and L. Liao, "Admissible meromorphic solutions of algebraic differential equations", *J. Math. Anal. Appl.*, **397**(1), 225 – 232 (2013).

Поступила 23 мая 2016